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Podzielny
Happel

Deutschland 2008
[Husemann,D]
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Was soll Weiß am Zuge nun tun?
 1.Tc8+  Kg7  2.Tg8#
1-0

Slugin,S
Ajrapetjan,G

Lipetsk 2009
[Husemann,D]

(Diagramm)

Wie gewinnt Weiß am Zuge nun?
 1.Tg3+  Kf6

 [ 1...Kh6  2.Th8+  Th7  3.Txh7# ]
 2.Tg6#
1-0
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Helstroffer
Geske

Bad Zwesten 2006
[Husemann,D]
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Wie gewinnt Weiß am Zuge?
 1.Ld5+  Lf7

 [ 1...Tf7  2.De8# ]
 [ 1...Kh8  2.Dxf8# ]

 2.Dxf7+!  Txf7
 [ 2...Kh8  3.Dxf8# ]
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 3.Te8#
1-0

Prokes,L
#20
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Weiß am Zuge.
 1.f4+!  Kxf4

 [ 1...Kh4  2.Sxf5++- ]
 [ 1...Dxf4  2.Se6+  Kh4  3.Sxf4+- ]

 2.Se2+  Kf3  3.Sxg3  Kxg3  4.a6+-

Kobalija
Korotyljow

Moskau 1999
[Husemann,D]

(Diagramm)

Was kann Weiß am Zuge nun
machen?

 1.Da7!  Dxa7
 [ 1...Tb8  2.Dxb7  Txb7  3.Tc8++- ]

 2.Txc8+  Ld8  3.Tcxd8+  Ke7  4.Txg8
1-0
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C70
Schmitt,Matthias
Kubacki,Matthias

Br. Jugendpokal (11) 22.03.2007
[Husemann,D]

 1.e4  e5  2.Sf3  Sc6  3.Lb5  a6  4.La4
 b5  5.Lb3  d6  6.0-0  Le6  7.c3  Sf6
 8.Lc2  Le7  9.d4  0-0
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Weiß am Zuge.  10.d5  Ld7  11.dxc6
 Lxc6  12.Te1  d5  13.exd5  Sxd5
 14.Sxe5  Lb7  15.Dd3  Lf6  16.Dxh7#
1-0
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